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MATH 8 SAMPLE TEST 3
No scratch paper No graphing calculators.

This test is in two parts. On part one, you may not use a calculator; on part two, a calculator is necessary. When you
complete part one, tear it off and place it at the front of your desk, | will collect it. Once you have turned in part one,
you may not go back to it.

PART ONE - NO CALCULATORS ALLOWED

(1) Find each of the following: (Note: here, answers to inverse trig. problems should be in radians, not degrees)
(2 points each)

e -0
(a) cos™ ﬁ =___Lt___ (b) cos‘l(O) —_
2
g Yz
(c) tan“(§)= Co (d) cos(315°)= -
=2 .
(&) sin(120°)-___ = (f) sin”(2)= _mz&m___
i}
(9) cos(0)= l (h) sin‘l(—1)= =
-
-1 @
(i) cot(Z) = G) sin™ (=)=
au _
>

(k) sin”’ (é{li%))= =

=

() tan(1357)=

(2) HOW MANY solutions does each of the following equations with the given restrictions on 6 have? (Do
not need to solve, just tell how many solutions there would be.)
(1 point each)

(a) sinHz%;OSt9<27r 2 (c) tan@ =-7; OSOS%‘_

— gin™! [ _2
(b) O@=sin"'(0.3) _ ! (d) cosf= - U\F(lﬂde.ly man)




(3) Solve the following equations exactly. (all solutions) ( 3 points each)

(@) cos’@—1=0 (b) sin %):g GP

Cos o=\ p i,
Cosp =+ \ 5 . ZF+2 L LT'lZiTlL,
@ 6: _ﬂk LlVl - 3“' %
) FNtSs e K 7ttt it
(4) Solve the following equations exactly for Q<60 < 2x. ( 3 points each)
@ tan(2x)=13 (6) 4cos6-2=0
63 ZX’%——W £ Tcoso=2
_ 0so=-L
X= ‘ICIQ.,-’J;'L C0SE= =
=L+ 2k 6=T or
2) _—3‘

x:g)' _Z(_E/ % %‘

(5) Solve the following equations exactly for 0 < @ < 2. ( 3 points each)

(a) cosé?:i @ (b) sin@=-0.3 (c) tan@ =5 @
l |
@ - '6':75’] 5)—

6= COE\‘:‘. Z—cog L refF=Sin /0:%/
) T O=T+ S (0:3), NF+7=~'5
IV~ 63)



NAME:

MATH 8 Sample Test 3
PART TWO - CALCULATORS ALLOWED (no graphing calc.)
Show your work on this paper. EXACT answers are expected unless otherwise specified.
Fill in the blanks with the most appropriate, simplified answer.

(6) The graph of a function is given. What restriction would you make so that the restricted function has an
(2 points)

inverse?
\ 2

NEEY .

s
\Y > ’ to do W me
XeZ OR X=Z Ways . Any s F
(7) Given that tan(9)=—z and @ is in Quadrant lll, find the values of the other 5 trig functions of
Gexactly (show work) @MSM defintron wnen 3 U S\V’j r\3h" [AY c‘e'_c,
O Usmg dentih<s gwen pomt (x¥) ondermmed (10 p‘;'nti ' de the acute
Fanz6t+l = =s€c*o Side -2 ﬁ ("3/2’) O§J‘C with + 6 _-l-_Z_ = ﬁf
, 2, 2 = =
(%) +I= 5% © tan=3 | 2 5 Fivd Hyp usn’_
4 r)=sec > bul 1 Q3 So Frnd Pythes, Thm.
%:3{&"6 <O yY>No \}____, 3 =Yz
seco= 2z 22 = Y¥=<& - LW SE Cos@’:?:i—
<3 X==-3 -2 GE )
wCose= P (Obetﬁr_=%d't 'V\Q3 sk <o sd
sin(@)=_= Via  cos(9)= 5(;[@ sec(@)=—\ 13 B CosO=-3
T
= N3 - :
csc(0) = / z cot(6) = 3 / Z- etc

tawvne = 5“':0; = sSnb = +OU’\QQ056 »
I S )(R)= 715 <k

(8) Evaluate exactly: cos(sin‘l(

j (You must show work calculator may not be used). (3 points )
\tany mverse +r|3
that we cant slmphF\/ﬁ ‘F
Can be helpfel o ca) (6
So let (9-=5\V\(")
ALV | §
= 3\\/16- '/5 ANn Q&_e'-z

S ( 1 3 *=2s
x’-—z_u/
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-Cos O =‘/-§=2;-"‘




(9) Solve for x and y, exactly (4 points)

(10). Solve for @ exactly: (2 points)
7 O\GIJ + NG — O-LE = L
o ‘7 P 18 adJ' % o)
(9' =T Eﬂ-. 2
(D

(11) This problem checks your understanding one three versions of the definitions of the trigonometric functions.
Given the following figures, find: 5 (2 pomts each)

d

oM -)s = YV3g = Vierse = V52 st X2
- gv’—;' (2, 4/5 ‘5 umtc&cli _3

0 8
U\ 5
3 Yy _4s
X T “4 _ - ‘tanp=—= —
5 V3 . N 6="T"==
1 S6="7F= 7 & 4
_ =%
\ /__—5°I /5 y VE - 49 3
(@) tan 6= (c) cos 0 = (e)tant =
' r ach_v\
A p(’ X (b) 6 ~ degrees degrees (f) t=~ Mecle
-\ (tis a number, not angle)
O= ten ( .) 6—6 l75) f—-ﬂ‘ ref= /T—'/‘a/
(12) An person sitting at the top of a 300 foot cliff at the edge of the ocean observes a ship ) =
directly offshore. The angle of depression from the person to the ship is 23 degrees. How P Os/fr
far is the ship from shore (exact and approximate) (4 points o 300
"""""" Tan23 =
o .
oL X fen23°=300
300 F't X= 300 ’e
> ""'O! 1 23
7 {’ )
X 23° by alternate 1 te/107
. = g leS Nole: You Mo Wt he
e, <3 “9
J done + d¢ F‘Fe"”('l\/l”vc‘/

o PPVOK. should be s



(13) Ata point on the ground 200 feet from the base of a building, the angle of elevation to the bottom of a
smokestack on the top of the building is 35°, and the angle of elevation to the top of the smokestack is
53°. Find the height, h, of the smokestack exactly. (7 points)

Usng Right A (rots: & yourve leamed law
Lof cines, youcan appmach
Twhie ot hne - u)cx\/)

+uwn35°: X +ctn5 3° = X+ A

200 - 2009
ZOOfaMBSo;x

1

200 tan53°= 200k, 35%
h- Zootan53°-200ten3 s?
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—— e (e —— —— — )
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200 ft

q “4 Height of Cloud Cover To measure the height of the cloud cover at an airport, a worker shines a
spotlight upward at an angle 75° from the horizontal. An observer 600 m away measures the angle
of elevation to the spot of light to be 45°. Find the height & of the cloud cover.

(7 points)
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Factor X Tend5 +XTan75 6ootan75
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